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What is the difference between 13.00 and 9.12?
21.12
4
3.88
3.22
Show Answer…
Correct Answer: c) 3.88

What is the difference between
13.00 and 9.12?
A. 21.12
B. 4
C. 3.88
D. 3.22

Calculating the Difference
To find the difference between two numbers, you simply subtract the smaller
number from the larger one. In this case, we have:
13.00 – 9.12 = 3.88

So, the difference between 13.00 and 9.12 is 3.88.

Explanation of Options

a) 21.12 – This option is not correct because it does not represent the correct
difference between the given numbers.
b) 4 – This option is not correct. Although it’s close to the correct answer, it’s not
the precise difference.
c) 3.88 – This is the correct answer, as explained above.
d) 3.22 – This option is not correct as it does not accurately represent the
difference between the two numbers.
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Conclusion
The correct difference between 13.00 and 9.12 is indeed 3.88. Subtracting 9.12
from 13.00 gives us this result.
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